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S RE- 0 &+ o4 & & 0f b o SimE=FT
&5 Al 1,747,953 1,194,958 552,995
AR 1,747,953 1,194,958 552,995
500 Ex= 1,747,953 1,194,958 552,995
510 = 12X3S 1,386,675 940,821 445,854
511 =1EX=SS 1,386,675 940,821 445,854
511-01 =12x= 854,906 466,030 388,876
Ot A+ dAEl K& 1,485
OsHEASMHIANE(HEEAXA) 358,755
OsHEAZ MHIANE (M2 X 2) 358,755
OsOEASMBIANE (AT ZA) 124,505
Q&2 AMOt=<0] X& 11,406
511-03 JI2 531,769 474,791 56,978
O=JtigES Al 26,523
Oolol=s & 80 282
OANzg=2AdZ 2l 87,932
Oty & e 22 (H2UHUS) 1,412
Odg2ze o 3,000
OANZTXSAS] HZ LA 23,382
ORI =018 4,331
OXIHXI=22lHl X 20,425
OslAHdXId&Ee 2=l A& 38,926
OX S St el o & 32,300
OZgScHL 76,235
O=g+% A& 6,400
Oguas orsAF el 2,400
Odld0F 3 EHE A 756
Osttdd=s XN 55,300
og =Jad 49,950
Odopded| A2da 1,618
Ogathkt 2lzdl X& 20,000
Ozd3cH 37,100
O EUAOl B A & BHOt2tE] 1,500
O0l=0t & SdH-UAOIA0F 2lZ2H XI& 6,000
Ogm0t 224 929




of
RJ
OF
oJ

ulo Ul
o rio
K Ki
MM
ki A

4|
—

Yo}

00

S I i
b S|s|s
E|
E=]
N N N
= [S238 RSEA NS
o JEE
w Al [aV} Al
H
|
)
(] [eo] (@) [e0) [e0] [ee] (<o} (@] (@)} N~ (ep] [ee] o o o Q0 [ee] [ o o [ee] (e} o o (e} o (<o} <t M (@] o o (e} —
Q <t < N~ N~ N~ QQ Q 0 [a\] — N~ Al o [«) (V] N~ — Al o N~ L Q o Lo o — [aN] N~ o (@) Lo N~
S - QNN § © © - o ¥ o ® - o - o d o o o & K~ o - o © - o ;»n d o
S} o (ep) (ep)
<
=
o)
=
o 4 4~ =
air ER == ﬂ M Py
; Mo n " = ol H
00 = H M R~ .
: g wom A o & &
A = @ 3 X 3 ° S o A0 .
. o = wmoT T = o 2 ar i
%0 o7 0 = & ¥ ¥ o o o= = aT :31 =
. o - _ =4 o= g i) G
H_AT R = T D D Al B - 0 K = 0 o
Ko Ko N T T X A0 o o __ﬂ S T KIo ) 1ot
U koo RJ = o =< A0 0 =
U M o1 o o i PR g ° WA 5
H oo o [ |3 = 8 ) # 30 [ =z 35 H or =
K o ol |2 <~ 3 s 3 3 rH = = oo’ A R ol A
ol ) il _ﬂ S il M H K = R R S =) o1 ol )
O O O - % O O O O O O O O O O O O O
< ¥e)
o
o

521 Al -







SA: 2
XMXH:
o Tt o
jrn)
o

el

[
2

Al

A

AN

0 & 24

— T

=1
R
121

HH AL S

4,568,415
854,906
519,769

34,297
361,278
2,798,165
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593,426
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358,755
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01 Al£HI 722,020 0 722,020
OAtel 84X A A 722,020
-JlE & AN 28,630
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4,772
4,771
AR 498,780
332,520
83,130
83,130
S X0 150,000
-Ha=s EN 29,270
2R 15,340
02 2eldl 10,723 0 10,723
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A ZZLZAYS MHIA JIsL s
el SSEAI2 AIE - FH 2 (98
_ = FSRE =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
—HEEE 7,670
02 Zcltl 2,875 0 2,875
Ould| BAXZA AIF 22l 2,875
= 1,917
= 479
= 479
03 A2 204Hl 1,232 0 1,232
OulD| BAXZEA A AI&20 1,232
= 821
S 206
s 205
232A=MulA X& 1,105, 102 1,053,722 51,380
Jl 4,988
= 644
= 1,099,470
BAS I MHIA K& 18,908 17,236 1,672
201 LEH2HH| 910 1,060 A 150
01 AtS22iHl 910 1,060 A 150
OXAEANYARE A+
70,0008 » 13F = 13| 910
202 ol 17,098 14,400 2,698
01 2L 17,098 14,400 2,698
OXla - dgh 52 L 6,996
O8d9z MUlA Ws 10,102
203 ¥ =& 900 900 0
03 AIBFYRFLH| 900 900 0
O33EA ¢ S HHIA AIFX 900
SONENN= 634,121 581,581 52,540
101 e A 53,125 52,441 684
04 2J|2t ZNSEF 53,125 52,441 684
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Osgt 2 LB ASA R
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01 =N 6,996 7,920 N924
Ozsldzgge =4 6,996
307 @12t 574,000 521,220 52,780
01 =L+ = 574,000 521,220 52,780
OgMdzE o4Z & JIXHH 574,000
= E=ON; 500,000
-&t = 45,000
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M BAA
A ZZLZAYS MHIA JIsL s
el SSEAHASMHIA X (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
Jl 2,840
= 1,420
01 MR ESF=H 4,260 7,944 N3,684
Osttalgd MsEU 1,800,000& = 1CH 1,800
Jl 1,200
= 600
ogumz e 2,460,000&  1CH 2,460
p) 1,640
= 820
ENA HA 1,000 1,768 AT68
201 LEt=EH| 1,000 1,768 AT768
01 AtR2teld] 1,000 1,768 AT68
Otgs =38 5,000& = 100& 500
o285 SAEN 800% * 6255 500
HNE=s ¥ H=+H 7,040 7,040 0
307 2I2tol™ 7,040 7,040 0
05 BIZtAE S 7,040 7,040 0
OHll+= /A& X 16,660% * 45 » 12& 800
OXRE= S A 6,240
-2 A A 100,0008  12& 1,200
==Ra N ES 35,0003 * 12JHA * 128 5,040
SSEHYA X& 234,880 226,140 8,740
201 LEH2 Y| 5,240 4,900 340
01 At 2t2ibl 5,240 4,900 340
OZ32I M 50,000& =+ 8% 400
oJte +¢ 40,0002 » 2% « 8% 640
O=a itz 70,0002 * 58 » 12& 4,200
202 Oddl 11,240 11,240 0
01 =Wy 11,240 11,240 0
O2sE2d9 e 11,240
301 Let2a= 218,400 210,000 8,400
12 JIEt2 o= 218,400 210,000 8,400
O38Ed9 dzgs &elas
700,000& * 26Y  12& 218,400
B4 - AL 29 173,847 182,891 A9,044
101 Q14| 10,746 10,125 621
04 JIAHZ2NHESE= 10,746 10,125 621
OF A2 12 36,4703 * 154 5,617
OANEE 2tel & HARY
33,3008 = 154 5,129
201 Yer29| 130, 102 145,167 A15,065
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SA BB CR(SH) - NRAY - A S Aol e =2
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01 AFR22lH| 4,533 5,860 A1,3827
O&stx =& 1,600
-2 24 4 300,000& +* 13/ 300
=R PN EN 108,300 * 12 + 13 1,300
O&FAL &=H| 200,000& * 5& 1,000
O&JIIEEH =2 1,933
=Ea DN EN 80,520& » 7L * 18] 564
e P = 80,520& * 17014 = 13l 1,369

02 3234l 125,569 139,307 213,738
(@FSpiN= 67,561
= 2,500,000& = 123 30,000
A PN EN 260,840& * 1200 = 128 37,561
O=k= 3,144
-2 24 4 100,000 = 12& 1,200
=Ra PNEN 27,0003 * 604 « 12# 1,944
OZe B3 560
= 100,000& * 102 100
=Ea PN EN 21,6603 * 12944 260
-X s X 200
ORdEs =iE 600
-2 4 A 33,330& * 12& 400
R a N 8,300& » 20 * 12& 200
OXts Al 1,130
-2 8= 60,000& = 100 * 18] 60
-2~ SE 70,000& * 1CH * 13 70
-= 8 & 200,000& = 500 * 13l 1,000
OkXsxt Bgx 3,075
-2~83 =2 550,000& * 1CH 550
-A~EHSE 250,000& * 1CH 250
-= 8 & 455,000& * 504 2,275
Ooder Azl 28,000
i 8,000
R a N 20,000
OEMAZE RXHI| 8,000
OZ=FH & EDI S Al 1,000
oz2Exg |XH 12,499
-2~ 83= 2,929
-A~EESE 4,120
-= X 5,450

307 GI2t0IA 32,999 27,599 5,400

05 GIZtRAE = 32,999 27,599 5,400
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el SSEAHASMHIA X (&9 &d)
_ = FSRE =
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\jo“ BlusZ
ORoIAHAIAE S 20,610
-2 4 4 265,500& = 123 3,186
-BAX A 121,000& = 12014 ~ 128 17,424
O&I| et ae 8,609
i 267,410& « 128 3,209
-2AHX A 90,000& * 54 123 5,400
Oaghddl ot ate] 165,000& = 123 1,980
Os &2 J| ¢t ze] 150,000& = 123 1,800
dFE2AMA = R LRSS 348,069 319,302 28,767
= 1,485
Jl 26,805
S 28,147
= 291,632
HdEH 2 ALY 193, 157 143,112 50,045
= 1,485
Il 282
= 4,064
= 187,326
gALS 120,389 75,436 44,953
101 1A 6,660 6,286 374
04 JIZHMIZ2XNSE =+ 6,660 6,286 374
Oggas GREX 128 33,3008 * 200 6,660
201 EH2HH| 2,550 2,550 0
01 AtR22iHl 2,550 2,550 0
OogdzEd 4 2,550
206 M=l 106,079 64,803 41,276
01 MZH 106,079 64,803 41,276
OgdAs A5 96,800
-2 SN 64,100
o= 30,0003 * 550 ¢ 16,500
ERE 25,000& * 1,400 4 35,000
=IA(E=, 2,990¥ * 1,100& 3,289
gHE 19,8108 = 470me 9,311
| 9,000& = 300 ¢ 2,700
-=ESTA 30,000
OLALSHH |F 9,279
-HER 1,6173& * 5324 861
-84 5 1,403 * 6,000 ¢ 8,418
405 XtotE SHI 5,100 1,797 3,303
01 MM =SFSHI 5,100 1,797 3,303
OXEE HaA=s)|(Dah HoH 2F)
1,700,0008 = 3CH 5,100
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M BAA
FH: dgg2elMA 28 & agasLst
el dEEeIAY (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
OFgd ole & o=A8 HA 8,79%
ool & g0 564 520 44
J| 282
= 78
= 204
202 Oddl 42 0 42
Jl 21
= 21
01 =LHOYI 42 0 42
Oulol= 2rgel z2e| 42
p) 21
= 21
307 21201 & 522 520 2
Il 261
S 78
= 183
01 A2 H=H 522 520 2
OdEaHAI 522
Il 261
S 78
= 183
still=Xgs X 13,140 12,140 1,000
307 2120l & 13,140 12,140 1,000
05 2IIRAE S 13,140 12,140 1,000
Ostd=Xgal /&= 13,140
OtE I & &tate] 5,000 5,000 0
S 2,500
= 2,500
201 L2249y 5,000 5,000 0
(= 2,500
= 2,500
01 At 22ibl 5,000 5,000 0
OOCEIZEE u= 5,000
JINN & EES 3,000
= 1,500
= 1,500
- At 100,000& « 203! 2,000
(= 1,000
= 1,000
HEESAY 154,912 176,190 A21,278
P 26,523
(= 24,083
= 104,306
AHALES 37,965 60,000 N22,035
307 21z2tol A 37,965 60,000 N22,035




M BAA
A Mgz M e 25235t
SR HgESAY
_ = FSRE =
SA-EFH - SA(SAH) - MREAY - BES &hoh 'oﬂ/'\_WH
01 A= +=H 37,965 60,000
ORzHZE 33,265
-olE=a 10,000& = 2,700¥ 27,000
“HEIEA 5,000& = 150 750
‘HESTZE 8,000& = 180%¥ 1,440
882t 5,000& = 2509 1,250
- < 12,000& * 100 1,200
-CIZHI2I0 Z(T0) 12,500& = 1309 1,625
OO0t ol 3,200
-Cl Ol €l 4,000& = 250 1,000
-2 Ot0HyI 10,000& * 90 900
-2t & 2,000& = 200 400
- e 9,000& = 100 900
ONgEE %43 ¢ JIXHM 1,500
IZHY &S 63,901 63,901
= 19,170
= 44,731
307 GI2t0ld 63,901 63,901
= 19,170
= 44,731
01 2=+ =H 63,901 63,901
OQIE=2dX & 62,530
= 18,759
= 43,771
og=4g 2,193& = 625 1,371
S 411
= 960
= IHEE S A A 53,046 52,289
Il 26,523
S 4,913
= 21,610
101 el2dd] 19,990 19,825
Jl 9,995
= 9,995
04 JIZtHZ2 XS 19,990 19,825
onggsd 19,990
-2 50,000& = 1H = 305 15,250
Jl 7,625
= 7,625
SSHEEE 130,000& = 18 * 123 1,560
Jl 780
a 780
-El A 1,320,0008 * 1¥ 1,320
) 660
= 660
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H &
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8,700
8,700

H S
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S BEAHA
M. HNESHAH(BAHL)
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SN2 15,0008 18 = 123 180
- gz 13,000& * 165 * 128 2,496
-X Sz 5,000& » 42 * 128 240
Og Al 50,000& » 2& » 112¢& 11,200
33234l 7,885 14,943
ORER= 1,285
Odsle= 6,600
01l 72,360 72,360
=LHO I 2,160 2,160
OEdAa JZ2ge=Fd 2,160
=L 70,200 70,200
O3 % 2233 XN

150,000& = 39& » 123 70,200




